
Welk getal ontbreekt t/m 5.000?

Oefening 1

1. 1.467  +     =  2.071

2. 1.990  +     =  3.698

3. 2.482  +     =  3.649

4. 1.068  +     =  2.044

5. 2.370  +     =  3.919

6. 2.331  +     =  3.473

7. 1.814  +     =  2.797

8. 2.480  +     =  3.426

9. 920  +     =  1.651

10. 2.286  +     =  3.510

Oefening 2

1. 1.327  +     =  1.970

2. 1.958  +     =  3.447

3. 2.177  +     =  3.211

4. 1.964  +     =  3.690

5. 1.185  +     =  2.098

6. 2.310  +     =  4.527

7. 1.914  +     =  2.965

8. 1.569  +     =  2.806

9. 1.642  +     =  2.520

10. 1.985  +     =  2.568

Oefening 3

1. 1.824  +     =  3.521

2. 2.408  +     =  3.740

3. 2.243  +     =  4.025

4. 1.871  +     =  2.855

5. 1.625  +     =  2.604

6. 1.793  +     =  2.499

7. 1.358  +     =  2.440

8. 1.923  +     =  2.790

9. 1.562  +     =  2.573

10. 2.325  +     =  4.331

Oefening 4

1. 1.960  +     =  3.045

2. 1.741  +     =  2.950

3. 2.011  +     =  3.978

4. 1.935  +     =  2.940

5. 1.867  +     =  3.160

6. 2.141  +     =  3.805

7. 2.169  +     =  3.424

8. 2.410  +     =  4.520

9. 800  +     =  1.524

10. 2.430  +     =  3.495
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Oefenblad: Welk getal ontbreekt t/m 5.000? |
ANTWOORDEN

Oefening 1

1. 1.467  +  604  =  2.071

2. 1.990  +  1.708  =  3.698

3. 2.482  +  1.167  =  3.649

4. 1.068  +  976  =  2.044

5. 2.370  +  1.549  =  3.919

6. 2.331  +  1.142  =  3.473

7. 1.814  +  983  =  2.797

8. 2.480  +  946  =  3.426

9. 920  +  731  =  1.651

10. 2.286  +  1.224  =  3.510

Oefening 2

1. 1.327  +  643  =  1.970

2. 1.958  +  1.489  =  3.447

3. 2.177  +  1.034  =  3.211

4. 1.964  +  1.726  =  3.690

5. 1.185  +  913  =  2.098

6. 2.310  +  2.217  =  4.527

7. 1.914  +  1.051  =  2.965

8. 1.569  +  1.237  =  2.806

9. 1.642  +  878  =  2.520

10. 1.985  +  583  =  2.568

Oefening 3

1. 1.824  +  1.697  =  3.521

2. 2.408  +  1.332  =  3.740

3. 2.243  +  1.782  =  4.025

4. 1.871  +  984  =  2.855

5. 1.625  +  979  =  2.604

6. 1.793  +  706  =  2.499

7. 1.358  +  1.082  =  2.440

8. 1.923  +  867  =  2.790

9. 1.562  +  1.011  =  2.573

10. 2.325  +  2.006  =  4.331

Oefening 4

1. 1.960  +  1.085  =  3.045

2. 1.741  +  1.209  =  2.950

3. 2.011  +  1.967  =  3.978

4. 1.935  +  1.005  =  2.940

5. 1.867  +  1.293  =  3.160

6. 2.141  +  1.664  =  3.805

7. 2.169  +  1.255  =  3.424

8. 2.410  +  2.110  =  4.520

9. 800  +  724  =  1.524

10. 2.430  +  1.065  =  3.495
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